[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

1.0

Ratio

T e T T [ T[T T [T [T [ IO T[T T [T [T ToTT

o
©
a

107 1 2

=
2
N

10 0
TP vertr (cr%)

—=— DQM_mkFit_TTbhase
Efficienq —— poM_mkFits_TT_retrainOldFiles125_v2_prelimWP_epoch4

~ 0.1

R S e
%) F . . . . :

> 0.08------ e R i oo :
> : : : : :

2 : : : : :
TRl S S

2 N

£ 006 |-l rooire b

o ] . . p
0.05§-
0.04ft-
0.03f;-
0.02F -
0.01

..............................

...........................

L
-

TTTHTTTTTFE
oy
e
<
L. ..
= i

=
(@)

093 -20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
IS
7 0.04
$.035
2y
c0.03
@
8.025
(0]
0.02
0.015
0.01
0.005

10

Ratio

1.1

"
3
2 3
e
b
3

TTTTTTT
&
4

|
N
(=]
|
[N
[6,]
|
=
o
|
6]

Sim. PV z (cm)



	Contents
	Page 1


